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QUESTION 1

Which statement is true regarding the creation of nested plans using the Oracle Resource Manager?
A. Only one nested subplan is allowed per parent plan

B. The plans can be nested up to four levels.

C. Nested plans only control resources used by recursive SQL

D. Nested plans control only the degree of parallelism and I/O requests

E. Each nested plan gets a proportion of the CPU resources assigned to its parent group.

Correct Answer: E

QUESTION 2

You notice that the performance of the database has degraded because of frequent checkpoints. Which two actions
resolve the issue?

A. Disable automatic checkpoint tuning.
B. Check the size of the redo log file size and increase the size if it is small.
C. Set the FAST_START_MTTR_TARGET parameter as per the advice given by the MTTR Advisor.

D. Decrease the number of redo log members if there are more than one redo log members available in each redo log
group.

Correct Answer: BC

QUESTION 3

You decided to use Direct NFS configuration in a non-RAC Oracle installation and created the oranfstab file in / etc.
Which two statements are true regarding this oranfstab file? (Choose two.)

A. Its entries are specific to a single database.

B. It contains file systems that have been mounted by Direct NFS.

C. Itis globally available to all Oracle 11g databases on the machine.

D. It contains file systems that have been mounted by the kernel NFS system.

Correct Answer: CD

QUESTION 4
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The DB_BLOCK_CHECKING parameter is set to FULL. What checks occur each time the DBWnprocess(es) writes?

A. The Oracle database will check all data blocks by going through the data on each block, making sure the data is self-
consistent.

B. The DBWhn and the direct loader will calculate a checksum and store it in the cache header of every data block when
writing it to disk.

C. The Oracle database will check data blocks belonging to the SYSTEM tablespace only, by going through the data on
each block, making sure the data is self-consistent.

D. The Oracle database will check data blocks belonging to the SYSAUX tablespace only, by going through the data on
each block, making sure the data is self-consistent.

E. The Oracle database will check data blocks in the SYSTEM and SYSAUX tablespaces only, by going through the
data on each block, making sure the data is self-consistent.

Correct Answer: A

QUESTION 5

View the Exhibit to observe the error.

ORACLE Enterprise Manaqer 11g fotup Frobororcos Holp  Loooul
Database Caontraol Database |

—ee————————————— =
Databass Instances: arel = Legaed in A= SYS
(X) Database Error

ORA-04031; unabie to afiale 3995 byles of shared memory (*shared pool’ 'SELECT aadvisor_tame, a.tas. . 'sga
heap(1,0)","kglsim objecl mich®)

You receive this error regularly and have to shutdown the database instance to overcome the error. AutomaticShared
Memory Management is configured for the instance.

What can you do to reduce the chance of this error in the future?
A. Increase the value of SGA_MAX_SIZE

B. Enable automatic memory management

C. Set the PRE_PAGE_SGA parameter to true

D. Lock the System Global Area (SGA) in memory

Correct Answer: B
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